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Page44  Exercise 1

1 2)2,4,68,10 b) 5,10, 15,20, 25
©)7.14,21,28,35  d)9,18,27,36,45
©)8,16,24,32,40  f) 11,22,33,44,55

2 2)36,18,24,12,30  b)24,16,32,40

3 12,24,36,48

4 36,45,54

5 2)33 b) 21,28, 35, 42, 49 ©) 56
6

a) 12,14, 16, 18,20, 22, 24
b) 12,15, 18, 21,24
©)12,18,24

7 22,17,23,65,77,49

Page46 Exercise 2
1 2)2,4,6,8,10,12, 14,16, 18,20
b) 3,69, 12, 15,18, 21, 24, 27,30
©)6.12,18
d)6
2 a)4,8,12,16,20, 24,28, 32
b)7, 14, 21,28, 35, 42,49, 56
)28
3 2)6,12,18,24,30
b) 9, 18, 27, 36,45
)18
4215 b) 14 €20
d) 45 €21 1) 72
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1 a) Factors of 30: 1, 2,3, 5,6, 10, 15,30
Factors of 31: 1,31
Factors of 32: 1, 2, 4, 8, 16, 32

b) 31 is a prime number as its only factors are
itself and 1.

2 245

b) 45=5x 9, soitis not prime (t has factors other than
itself and 1)

3 a)21,25and 27
b)21=3x7,25=5x5and 27 =3 x 9 — they all have
factors other than themselves and 1, so are not

prime.
7.23,53,59

a) 11,13, 17,19 b) 31,37

) 67 b) 41,43, 47

42=6x 7,50 it has factors other than itself and 1
The only factors of 41 are 1 and 41, so it is prime.

No, 51 is not prime, as 51 = 3 x 17 — o it has factors.
other than tself and 1.

10 71,73, 79
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4x6
sx—
2 21,25 b1 1,25
91,247 €12 11248
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1,3,7,21
5 21,7 b)1,5,25
©)1.2,4,8,16 d)1,3,5,9,15,45
) 1.2,4,8,16,32,64
1) 1.2,3,4,6,8,12,16,24,48
6 a)2.4 b3
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